—=RUSIKY LINERS=—

ALUMINUM ACCESSORIES

316.221.3909 — 800.611.9948 — (Fax) 316-221-4199 — P.O. Box 815 — Winfield, KS 67156

SUNSHADE INSTALLATION INSTRUCTIONS

Materials List: 1- Sunshade, 2- Mounting Feet, 2 - Mounting Blocks, 2- ’’ Bolts, 2-3/4’” Washers 4-3/8”" Flathead Bolts, 6 Each- _’’ Bolts, Nuts, Flat
Washers And Lock Washers

Follow the instructions below to attach the Rack.
Attach one of the aluminum blocks to each of the Mounting Feet using the 3/8” x 1” Flathead bolts. Only engage the bolts 3 or 4 turns at this time.

«Slide the Rack Foot and the aluminum block assembly into the truck bed stake pocket with the foot upright towards the outside of the truck bed.

eInsert the _” bolts with the _*” washer through the access hole of the stake pocket and thread the bolt into the aluminum block positioned in the stake

pocket. Finger tighten all of the bolts at this time.

oIf the truck is equipped with a bed liner it will be necessary to remove or pull the liner away from the truck bed to access the hole of the stake pocket. If
preferred a hole (large enough to fit the washer through) may be drilled through the liner.

Attach the Rack to the inside of the Mounting Feet using the _*” bolts and firmly tighten all fasteners to complete the installation. Do not over-tighten
the 3/8” Flathead bolts.

«If bolts loosen, a removable thread locker such as Loctite 242 may be applied.

RACK FOOT AND ALUMINUM
BLOCK ASSEMBLY
7 © o UPRIGHT OF RACK

TRUCK BED RAIL =
\ O
/O —
ACCESS HOLE IN STAKE POCKET
LNV

RACK /STAKE POCKET RACK /TRUCK SIDE VIEW



